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12| ERNEZDEMEEQKA 600 1,000] smus b mp| H28.4.1
114)1-2 2 7 # fi 755 952 smui | H16.5.6

15 ERERIFRIBREY =17 )L (TR 2,160 2,400] 2/l bamg| R5.11.10

S| 116|1-2 ERMES 1,000 1,238 smu b mp| H26.3.22
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126|65THR ErEEZE1R S EHELE 1,080 1,200] smu b | H29.7.10
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132A140 Z(HEEFHEAEZHACD-ROM Verd0 2,600 3,200 siul E4mss| R4.10.26
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544-3| R & LIS3EDVD (5§3%) 16,1901 29,049| =
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502-4|3 BB Z 1 RDVD (F4%) 16,505 19,418] —#s520M
502-5|X B EEEZ 1 1#kDVD (E5%) 16,505 19,418] —#520mM
502-6|35 @ FEZ i 1 #kDVD (FE6#) 16,505 19,418] —#s520mM
522|$rZBEEHEDVD 265 118,095 147619 = #
522-1|#EREHEDVD (E1%) 247621 31,429 =
522-2|#H E{E B HEDVD (F2%) 247621 31,429 = #
522-3|FEREHEDVD (E3%) 247621 31,429 = %
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553\ !)T4-aHILA FDVD(£ 14) 1,710 3,000| 4% caa0m| H24.76
2| 546[1- 1 EFELMER1MOVD(£18)ERIR 16,0001 20,000]4#z<370m| H23.4~
Bl 5471 1#REHER1KOVD(£18) R 16,0001 20,000]4##<c370m| H23.4~
] 548|2-3MEER LM EH 1 MDVD (2125 KETHR EER 16,0001 20,000]4#=#<370m| R5.1~
549|1-1 2B £ 7B MR 1HDVD (£ 15) EHiR 16,0001 20,000]4sx<37om| H23.4~
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